EARAROBREBRT —5 XN—ZXBISH—F 20247818 (&) 6EAH5H

NS S%R3% 3487 B
[xE<%] 1 & :1,500,000 3 . 23&:600,000H . 33&:375,000H  43&:225,000 3 . 5 3&:150,000 3
B RS RS R HE B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
— FEEE : -5 - EiEaE (KH)
16l r=i i3 1 1.(2_7).3 7-5-4 | 37.9 5 (4_1?32}) Sy
RibwHO—)LR B:VAZSR Gl e
© HEXH : -3 - KB (V)
21711 = TLAN— 43 e 1(/%;_)3 5-3-3 | 38.4 8 (4_721) EEE%;&
R:O—RAH7rO7 B:T77ESRIAL RS
» s [FEESEEE] : -6- - mrdE (CKH
3 g | EU—h—2Z # 3 @ 1.(227).7 9-6-5 | 38.0 7 ff) EET\J‘EBE( )
RYZAI—ZZRI— BRNVEYSTFOFT SHEMNKIS
0 . BEEA : -2- - ISH=E (KH)
41814 NBILATILVAT it 3 f51 l?0 1(72{1)7 r .9 : (4_217) §IEEI§'Z—EB
RNNVTSY B:a939IUAT = IE—
~ HS 4 3 | BEE 1:27.8 14-12-11 [36.9| - 6 440 | HPIEA (IVH)
51712 TYY354047 54.0 (172 @) | B RBRF—=TI
Ribof7O0—U— B:OXEXVYR o &2
5 EEER : -13- = BER
6 3| IRTUD YT ¢ # 3 zsz%ﬁt‘i)sEA 1.(2%.0 10-13-13 | 37.1 13 (4—9(3 ;g;ﬁ(xm
RVIWN—-RF—~ B:7RI7IF—Y =& =7
— — KIS H : -10- - F il (KF
70158 | FAFRSA 3| o8 1(52}34)1 11-10-10 | 37.6 12 (4352) AniEnt FH)
RiT—IVRF— B:TFVTA—Y AM—LTF—LI—RU—Y 3V
~ <R 3 | fEEAsElsE 1:28.2 3-7-7  |38.2] - 10 | 491 | =IRBEEE ()\H)
N : MEPEZ =PI 38D 0 (e | B
RIRART—VYF— B:T7IU—YIT ENIVHRUS
o s . ~11- - W (KH)
9 0INIFHYI52 B3 ghE (11.235/.45) 12-11-12 [ 37.8 1 (31(1)) Déu_r,%ﬂ
RFIPITRATVR BFTU—ERT(— U5 &S
" 8 3 | fREKXE 1:28.6 499 |38.3| - " 505 | HEAR—K (KH)
0 2 PREI #53.0 @) (e) | TIBELE
R:IVHh—0 B:EWIF— = 2
= it 3 | REEZ 1:28.9 1-1-1 | 40.2| - 4 | 457 |FEAFOE ()
1|57 | LoTIT« 5.0 13/ ) |HERT
RiRLTAY B:FFD A L
< wa )18 : -8~ - EFE (W)
1 5| FIPVURY i 3 2l 1(72?5) 8-8-8 |38.8 2 21_545) 1‘(~ﬁ—) ehn
RIN—ANR B:FIFUSTYVT RIS
S~ JIEBOEHE : -14- - FEEFEE (KH)
1311 | TAvavrRU—L B3 €= 1.(229).4 13-14-14 | 38.3 14 (4_877) ek 5,
R:ib—EVRILRY BiR—TITIRU—L palzstie)
N = “EFEE_R : 41 - BB (KH)
14l8l13| /=R mF— i3 anE 1.(37(;.8 6-4-6 | 41.7 9 (4:335; ng_l
RiboHPIO0—U— B:YFI/TVY )| E455
@ 11— —BRIEfI
13—7F—
20— — 7,14,4,2,11,13,6,5,9,3,8,10,1,12
IT=5r= 7,14,11,13,6,9,4,5,2,8,10,12,3,1
40—F— 7,14,11,6,9,13,4,5,2,8,12,10,3,1
0 ILRE
BB 6 1,180 JA R 6-11 3,470 AR 4-7 1,250 3ER 6-9-11 34,930/
B B 6 410M 6-9 2,110M B 4-7 1,910 3Es 6-11-9 211,770
1" 450 9-1 3,340M 5 & 6-11 8,670M
9 5004 =51 6-11 14,340

ABIC OV TRUTEREERRODDZE. THRIIZEL.



